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ATCAT:

TR 3T ¥ 31 dorat § | SHHT g HAd el & & 3 H FfGH &t HHl g | IHR H1
Jordt 81 g <uife § b a8 gfam e off € 91 1 981 $ad &l e & ard gal & TS g
Sfery, THR U=l 81 T § a1 a1 o 81 Ihar g

() (7,49, 2)

ATCAT:

(17,4913,3) — 173 = 4913 (IR} =T U1 & T & U Bl §)
(9,6561,4) — 9* = 6561

TR IR,

(7,49,2) — 7% = 49

(TT) 446
YTST:
12x12+5

= 144 + 5 = 149
I UBR,

21 x 21 + 5

= 441 + 5 = 446

(9) rjﬁ

o
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(T 3,2,4,5,1
ARST:
CRELEE

Noble (3) — Noise (2) — Noisy (4) — Nosey (5) — Notch (1)

(M) 59

AT

faan o STe:
87x3—-8+5+10

Ty gl &l sgad & a1g
87+3+8x5—-10
=29+4+8x5—10= 29440 — 10
= 69 — 10 = 59
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TEHT:

db:- @, * 3R # B HAT:, +, x, + Y TG W,
=105 @100 *6 #7 =712
105+ 100 x 6 + 7

105 + 600 + 7 = 712

— 108 @ 80 * 15 # 60 = 1368
108 + 80 x 15+ 60

108 + 1200 + 60

108 + 1260 = 1368

4l UK,
=60 @ 45 *16 # 25

60 +45 x 16 + 25

60 + 720 + 25 = 805
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General Knowledge and General Awareness
(CORIGNE]
AT
TToRTa | Ry arct wwdn afaror Tk & IR-ufdd & § o i i Bt gugar Ot st Giel 1921 9
IR ITE-t 3 @1t (gars W S A=d 3R H-d A & ArfexH= & o1 718 oty | yRdg Rida
TAEITT (AS]): RIS - fAGoI SR BI-aH BT (1861),- 715 [Gceh], UGN HTHT - IS,
T, gol G183+ - T¥pid HATG |

(M) 1951-52

ATCAT:

1951-52 | dt. &t a1d A AS| TRTSHT gRT fod Tifd <™ R & Riaa@” R S foar, oA
Od RIdl RTed, YRETST 31%H, e, fmde 3R SRR &1 Gars &1 | §RAATgR &1 auH fig
Ul HETHRA 3R QRIUT § $% WIHI &1 UGy & ¥ H fobal 71 3| YRy fig Hglere
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CoHy205 (DI +60, (JTRITS) — 600, (BT SISIHRZS) + 6H,0 (SA) + ATP (Sl |

(®) DI

AT

I, SIS IS T CgH1206 &, TH B8-H1a- AIMH § oraH gTEgeH 3R TRioH &
U] BId & | Geblol, Sl WTpfad 0 § T, Jfeoral 3R e o Qi § fafda 1 & uran Sirar |,
TH UHR P DB g | AR, Sl &1 DS S(U[sii & FaoH ¥ §ct 8, U 30 UHR &1 I 7
Thacid, Rl T -1 & =0 § U STHT o1l §, T AFNdRISS ¢ ol 580 0 4 &5 Bl &
UIhfadh ¥U I U ST § | C8al, U ST ST g, Sl AR TR SHaTy], fddh, WHR,
Flel 3R Qe § urs o |1
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300 are | fE: fbT T B B X Y fd bed T WH (P) = WWTM

fUfas Sotl: fodlt i ot Sue! Rufd & R ol | RS S (PE) = mgh
TS = 15cm, 9T ¢ = 10s, TOHM m = 40kg, g = 10 m/2

Gl B FA SHAR A = 50 x 15 = 750cm = 7.5m

IS oI (PE) = mgh = 40 x 10 x 7.5 = 3000J
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e P = & = 3000 — 300w
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Tt arel Tee o e o €1 A A1 Y argHeSd B ofd SR gaT § AiN[g TS  (0,) & I1Y
TN IR RIS 3T (H,S0,) 3R ARfRH 3d (HNO,) HT AT &l 7
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HYH: T8 IR YRA BT Uh URURS I g | dTforg 37l 218, S 3fael (IR USRN) & 3ifas e 9,
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AR BeR 7 Gt TR I3 WY Siaer ey Jurd o) Ui 318 e Aok BeR facords &
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A 7B - A TP URIG AR ded Y| AOHR & REBR - YR I (1999), T AT (1981),
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53.6 RIS I 31w UL §, S g H Ty i g
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BT o1 H, SIS & O & ST XY 1 Sd & SR AT 9= I9d JA1 77| T8 U U
ST € fST I W1 ST, WA daHs 3R <dl JUET P U Wq0T 3TN I FoTra il ] |
AT ST Weg, IFSTT Weat AT (FIAT) 3R S (TRMp) T et 1 81 T8 3 fay ufrg
Id ST XY T BT U - 3B g |

(%) 9 GUTt a-

HTCAT:

Sde-Gaftfd IrTF &1 URd H ddhal B Wil 3R SAMUR &) §gH & ot T I=-30, dont
IOt T & U § derdl faar of 61 7, ford 39 onfdfer ik amikfRufass uve &R @i &
BN 1T B (29T 3w 3ruet drehd, Rl 3R F1el 3R url & ufery & forw uRig ©,
A 38 AP Sl & I &1 Radme fGamn 81 I8 U Yeua SUIGfeadia ¢ dbs! g foradbl
SUTNT STgTSt FAT0n, WiteR 3R i & fovar ST g1 WRd & giHaT & @TE 18 I a1 &l 35
yfera few 8, forad ulkrn &1 afyes e Tneql # o5 ufasrd § sifdie dre 81 FAO afie®
AT 1Y SR ST6IR SHThe 2022 & TR Hed o 3R HeRIY H G2 9riA a1 &1 Je
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AT T B URYA Bt T =
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(22,11,44) PTL.CM. =44
(22,11,44) PTH.CF. =N
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HcF 1

(@) 0.02

T

V/0.015625 x 1/0.0256 = 0.125 x 0.16 = 0.02
(P) 4851 Hiex 3

T
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2 _ 1386x7 __ 63xT7

T 4x22 T 4
4 _ 21
- 4 2

M BT AT = 11 x 21 x 21
— 4851 m?

() 15
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v _196:>2>< < h= 155

28,3?1%1?’ h=15cm

(3'7) DF =6 cm, /E = 50°
TSI
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Uq b &IENR
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ZC =180° —60 —70° :50
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11 . 912 . 91 3 ; =1 4
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3, 25 THIs = 775 = 1 3P = 31
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50.
(|I)3:8
ATET:
HTHT TSP I TJT 2 8 o ASIHT I TJT = 2 + 16
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3R &1 TRTd Yed TR fiygror fafty &1 i o2 3% B
STl Ot I g BT 3ifcd 3uTd 1 : 10 BRI

(@) 25

HTEAT:

W x 6h = (M x 4h) = (B x 8h)
o] hIH = 24

QAT DI HAJUIA (W : M :B)=4:6:3

8 x 8W x 10 = (10W + 10M + 10B) x 8x ? fad
G&IdT BT Yo T8 R,

8 x 32 x 10 = (40 + 60 4 30) x 8x?
2560 = 1040 ?

? =28 fa

(@) 7.5 °9¢
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EQC, 15(F HTY)

T\{qgq
TA(A) frama(s)
3ue 5 °e

T ISt gRT ¥ ) Ot ke A 4R fora T wHy = L8
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(") (14/3) fordi/der
AT
HHT 4RT BT AT = o fohel/eer rgurd —

YRT I oid oo & . R pr gAF fen #9799 - 3: 1

gl —1:3

Uy & IR,

28-3z __ 1
28+3z = 3

=84 — 9 =28 + 3z
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:>12w:56:>x:%ﬁ7_1:ﬂ/‘a'?[

1

B g

3

28 3
3 T

=
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S =TT gfg = 10 4 8 + 108
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= 222 %100 = 22 = 20%
() 20

T

MP: SP = 2500:2000 =5 : 4
__ 54 __ 100 __
9% = £ %100 = 12 = 20%
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HHET Ry = 2%, Ry = (z + 3)%, HAYT = P

YR AT — HAYT X @ x gAY
o - 100

PxRyx2 PxRyx2 300

100 100

B P W P = 25000

(M) 22500
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2
= 36 = P(15;) = 36 = P (3-)
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T

7 G137 BT Tdd S = 53
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=7 x 53+ (58 — 16) = 413

e 37T = 48 — 59
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(N T
C2EC2R
d
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FHadd |
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